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1. (a) Express 7cos 24sinx x−  in the form R cos (x + Į) where 0R�  and 0 � Į � 2
π .  

  Give the value of Į to 3 decimal places. 
(3)

 (b) Hence write down the minimum value of  7 cos x – 24 sin x.
(1)

 (c) Solve, for 0 x- � 2ʌ, the equation

7cos 24sin 10x x− =

  giving your answers to 2 decimal places.
(5)
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a 7cosx 24sinx
24 25 7 Cosa 21 Sina

25 25
7

L tan 224
25 cos 2 1.287

1.287

b Minimum Value 25

c 25 cos X 1 1.287 10

cos act 1.287

set 1.287 cos

S A

x t 1.287 1.159 5.124

T C 3L 0.128 3.837
Zitcos II 159 6.155

x 6.16 3.84I

Rcos(theta - alpha) Methods Example


